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This verse is necessary to pay for pain even where there is a loss

OVERVIEW

The X713 asked how can you say that the ?105 of ¥¥5 nrin vxo teaches us that a AW
is 211 like a 77, when we need the 2109 to teach us that one is liable to pay for vx
even when the victim suffered damage to his body (besides the pain). N50IN
discusses whether pr1 0pna X5W 79X is more liable or less liable than 197 QPR3 V.

- (4,79 9710p%) TAINNA YRYNTI P DYPNA 29N 13599 TP 17913 'NWHar nawy 5959
And we derive from 2yx that one is obligated to pay for naw %1291 and nwi2 even

»11 2IPMa, as is indicated in %217 o -
9513 93731 P13 DIPNA PMTUNA 12950 19191 NI MINT

Where the X713 cites a Xnvs13, ‘that all of them as liable to pay even P11 2ypn2’;

the X712 asks, ‘how do we know this’, and answers -
= P81 139959 179197 YNIWN D15 YN NNM YN NP 99N NA9T N9NIYN 93t 29 99N

7921 29 said in the name of X249, the verse says, ‘a wound in place of a wound’,
etc. to include P11 o1pna vy, and gives no other source, it seems therefore that all

of them (n2w ,"19°7 and nY12) are derived from 2px -
- 2519591 199955 17919 P DYPNA M99 11V KDY XY NP 90N *ONN 9NT N9 29

And according to 825 39, who answered there to the question of *>°n 171, the
verse says, ‘and he shall surely heal’, which teaches that he is required to give
P11 apna M999; we derive all of them (naw ,7vx and nw12) from 1999,

nvoIn asks:
— 4‘,7?) DIPNA YSY NP TEIVKINT 290 VIV P DIPNA NOY YST ¥NIYUN NINT 9NN ON)

And if you will say; here it appears that the obligation to pay for ampna X>w v3
?11 (where there is only pain, but no other damage) is more obvious, since we

require a special 7102 to teach us that one is obligated to pay even P11 21pn22 WX -
- NI IND ©YUNT P DIPNI RIYW PN TINT NIDIN YNUN (3,00 Y2INN 9993

! %1927 healing refers to the cost of healing the victim. naw refers to the loss of employment to the victim during his
healing process. n12 refers to the embarrassment the victim endured.
25,70,
? mooIn seems to be saying that 1"7 and 5" are arguing; according to 1" all are derived from 7%, and according to
9" all are derived from "19>7. But not that 17 is only explaining 7¥¥ and 5" is only explaining 15> (and they are not
arguing), for then how do we derive by naw and nu12 that they have to be paid even pr1 01pna. See (1"7V) in XK
TN "W # 63.
* This indicates that pra D1p»2 X2 X needs no special "1™, for this is the meaning of 772 nrn 2. See footnote # 9.
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However in 21177 P95 it seems the opposite is true, for the X713 there asks, ‘who
is the Xin that maintains pr1 21pna X5 vX has to pay?’®

N1B0IN answers:
- 193998 5Y NN 2NDTD 'DWIY NYY RIY 01PN 19950 19PYT P DIPNA RIWT 91299 U

And one can say that the P11 23p22 85w v¥, which the mawn speaks of later in 19
%2177 is where the 7v¥ was in a place where it left no mark, as it states in the

mwn, ‘he burnt him, etc. on his fingernails’ -
- 5159091 MINNON XY IV 99%3W 19V HY 13991 NINT P DIPNA NIY Y8

However the P11 29p»2 X5 9v3 here (where we assume that he is definitely 2>m),
is where the blow and the subsequent pain was on his flesh where its mark is

visible, but he did not diminish his value -
= 1199091 NYNNANT ITXI 925U 112 YVIP 1) XINT PTI DIPNA YN

And the P12 23p»2 9wx here (where we require a special 2109 to make him liable),
is for instance where he chopped off his hand or broke his foot, where he
diminished his value, in addition to causing him pain -

199919 X9 “n99anm XY 19 11990 NY NINNT
For in that case we do not know that he is liable for 7v¥, not from the word 7712an

and not from the word 3, so we need the 709 of ¥¥5 nnn v¥o to include that there is
liability by 11 2pna WX,

SUMMARY

PT1 DPna XPW WX where it is QW 7w is obviously 21 (more than P11 o3pna wY),
P11 0Pna ROW WX where it is oW 7w 70K is less obviously liable (than ipna vy
P11). We would not know pr1 21pna vy, without the 712°% of ¥¥o nnn v¥o.

THINKING IT OVER
What is the logic that pri 01pna ROw ¥, should be either more or less liable than
o1 Dpna w20

3 This is amended to read 2,79.

® This indicates that there is a liability only by pr1 21pn2 7w, but not by pr1 apna Xow Ws.

7 Regarding this type of 7v% (where it is 217 72w WX), the X723 there questions whether there is any liability.

¥ It is not that great a blow that would diminish his value if sold as a slave.

° The 2109 (in 719,X3 [@°wdown] Mnw) which reads 77121 NAN 77120 YXO DN Y5 7715 AN 771, from which we derive the
qv¥ 21’1 can be referring to P11 Dpna XPw . The liability for P11 is mentioned in the previous P09 of "3 PV nan 1y
931 nnn 231, We can assume that 9% of 772 and 73713 is by a pr3 pna Xow Wy (where it is oW 7ww); we therefore
need the 7% of ¥¥5 nnn ¥¥o to include pri opna vy,

10'See 717 noma.
2

TosfosInEnglish.com



